UNIT 5: NON-LINEAR FUNCTIONS .......

~~ Unit 5, Page 8 ~~ A

Bacteria Growth

arge colonies of bacteria to grow in your
=th hind starts reproducing by a factor

If you don't brush your teeth regularly, it won't take long for |

mouth. Suppose that afsingle bacferium lands o1 rtee
of four every hour. (mlltiplies’by foureveryhotr)?, a
b = the number of bacteria Equation: b =4

n = the number of hours [: . 2 “l

1. Gamplete the table and graph for the relationship.

(Use an interval of.1/2 on the x axis and 50 on tgeyaxis.‘)/\m,o
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2. Use the equation to find how many bacteria will be in the new colony after 12 hours?
=il = LM (2P
Show your work. J.Y\—l?.. b—-"* - 4 = H.pb]‘-lq\'l“.ﬂ

3. How many bacteria will be in the new colony after 13 hours?
(Explain’how you can'Use your answer from #2 instead of using your equatios

Mu(-h.ll)(tlz Ho (‘bredxédsndmhef of bectenis (1269 bx.'/ "‘7l

n b 2|0 A
4. After how many hours will there be at least 1 million bacteria in the colony ?"’IO O MS
(Use gmmyo find your answer.)

b=t sowhenwill 472 (0000007 48 = 65,530 Kble.
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~~Unit 5, Page 9 ~~ Objectives: | can model an exponential
- : ; relationship with a function table and
_Growing, Growing, Growing: Investigation 2 graph.
¢ | 1. Ghost Lake is 3 po i
, S pular site for fisherman, campers, and boaters. In recent
o e °e“a-"f‘ ﬁ?t,erv,p!?“fl‘af been growing on the lake at an alarrﬁing rate.
refe T«arzaqu!ete@bmhefpla‘ng The Dept. of Natural

- thalthe areais doubling every fionity

A) An equation that represents the growth pattem of the plant on Ghost Lake is g

@=1" - 1000 W 30 et s
Explain what information the variables and numbers in the equation represent.
Numbers:_JDOO— Stevtine QVeR 2 "C{OIAb(“':R/ ecch o
Variables: (] - ‘(’O{‘L( Cf'ﬂja CO%/Z/CJ - ndmh@(aoﬁ Monrdh S

B) Make a table and a graph of the equation. (Use x-intervals of 1 and y-intervals of 1,000.)
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C) surface area of Gfiost Lake i 25,000/000/8GUaIa 8eF How much of the lake's surface will be
covered e water plant by the end of the year? (Show your work.)

AVear = 12 month ,So m=1Z. Q= 2"7‘(10003 = Yo (1000) = 4,096,000 P>
D) In how many months will the plant completely cover the surface of the lake? &1&-_{2‘_@\&5
2.%= 16,3 94 219 231m0.5
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